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Info-Gap Argument Cards

A Viruses are not living because they:
- do not have all the parts that make up cells
nucleus, membranes, cytoplasm
- require living cells in order to reproduce
- do not possess a metabolic system, which
means that they do not grow
-_do not require food

B Viruses are alive because they:
- have genes made with DNA or RNA, the codes
for life
- evolve into different forms
- adapt in order to survive (they can build up
resistance)
- can rebuild their parts in order to reproduce

A Using corn for fuel should be encouraged

because:

- itdecreases our dependence on foreign oil

- Com-based ethanol bums more efficiently than
petroleum-based fuels.

- Ethanol creates fewer gases that contribute to
greenhouse warming

- It provides extra income for farmers

B Using com for fuel should be discouraged
because:

- Asethanol production increases, the price of com for
food goes up.

- The price of com affects the prices of other foods.
(Example: In the early 1970s, a sudden fise in grain
prices quickly raised the cost of meat)

- Food insecurity for poor families is likely: uncertain of
having or unable to acquire enough food to meet the
needs of all family members

A When solving algebra word problems, students
should be allowed to use their own methods
for solving them because:

It allows students to more deeply understand the
problems

- They can teach teachers and other students in the
class new ways to solve problems

- It gets them more involved and interested in math;
and to do what real mathematicians do

B When solving algebra word problems, students
should NOT be allowed to use their own
methods for solving them because:

- they can learn methods that won't help them in
more advanced math

- Itis harder for the teacher to see where errors in
thinking happen

- the methods might take too long, especially in
testing situations

A Radical republicans’ plan for dealing with

Southerners during the Reconstruction:

« Southemers should be punished for rebelling

« People who used o be rich slave owners should
lose their land. It should be divided among former
slaves and poor whites in the South

« No one who was in the Southem govemnment
during the war should be able to serve in
government again

B President Johnson’s plan for dealing with

Southerners during the Reconstruction:

« The North should help the South because that
will help the country heal faster.

« Southemers who rebelled need to ask for
forgiveness (a pardon) if they want to participate
in government.

« Southemers need to agree that slavery is over.

A The main theme of To Kill a Mockingbird was

“People are essentially good at heart”:

- Atticus defends Tom Robinson in spite of the
danger

- Boo Radley leaves gifts for the kids and saves
their lives without knowing them

- Scout continues to believe people are good, even
after leaming about Tom's traged

B The main theme of To Kill a Mockingbird was
“Peaple are essentially evil at heart”
- Tom Robinson is unjustly accused because of the
color of his skin
- Tom is killed while trying to escape
- Mr. Ewell ties to kill Jem and Scout

Sentence Stems

o Thatis an important point, but does it outweigh
« Butinthe long run

«  Thenagain,

«  Eventhough. .., we believe that

« Ifitrequires..., then

o Why s that important? Which is more important?
« Yet what about the influence of.

« Tell me more about why

« How does that example support your argument?
« So, how should we synthesize our conversation?
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